
�� �
 ����


���� �
� ��������� 
 � ����
 ����� � 
 ����

�	���
� ��	����� �����

�,- ��-� ���	�
%
 % .+�
��
� %
#+� 

?�*@ "+"� A-+ " "  !"��� �-��
���%

:+�!-���% !
� "
%�"#
���% "

�,�
� %


'
 �+#
 + "'�% "� 
���,"!��"!�%

,"!���'
��+B + 
�+	�� 	�
��� ��A- 	 	�%;

�
���"!�	 ���
��'
��
 � + ��'�� 	�
��� �*

���	�
%
� �+� ��' ���� ���
.�'
�� "%�

!��� �
���,-�#
 ��	�
'��
 �
"#
'��	 ��
�
 �

���	�
%
�

� ���

$������ ���� 
����
 �� 9 
 �
� D���
����� (B���
"

���$�� � ������
 ���	
 ��� �
 � 
 ��
� �
 ����
 �% 
 
 �	
���

� ��� �����
 ����
 ��� � 
 	������
����
��	��� 
� ���"

�
� ���
 �
 �
������ �
���� � ��� ���� �
 � 
 ��
�

�
 ����
 � �
 ��������� �
 � 
 ���� ��
� 
 � 
 ��
 ���������

�
 ��
����� 
 �
 � ��
 ���
 ���� +�
 ����
 (,�

% 
 � ��
 ���
 ���

D�
�� ��� �� 

�
 � 
 �


% 
 � 
 ��
 � �
� 
 '������
���
 �
������ �
����

�
������
 ( (== M <�

� 
���
������
 <
1
2
· 100 % = 50 %

(
1 +

1
2

)2
= 2.25�

� �������
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1
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(
1 +

1
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1
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1 +

1
x
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�
 �
 x ������ ��� �
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lim
x→∞

(
1 +

1
x
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e = 2 +
1

1 +
1
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1

1 +
1

1 +
1

4 + . . .
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e = [2; 1, 2, 1, 1, 4, 1, 1, 6, 1, 1, 8, 1, 1, . . . ,

2n, 1, 1, . . .].
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∫ ∞

a
f (x)dx = lim

b→∞

∫ b

a
f (x)dx.
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(n + 1)! · n! = (n + 1)!
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+ . . .
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(
1 +

x
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k
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n
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n · (n − 1) · . . . · (n − k + 1)
k!

· xk

nk

=
∞∑
k=0

lim
n→∞
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1k xk
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O ne, progoni me derivacija!

Ostani uz mene draga,
ja ću te zaštiti i derivacija

ti ne može ništa!
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